

q -Bernoulli, q -Euler and mixed-type polynomials

Dae San Kim

*Department of Mathematics,
Sogang University, Seoul 121-742,
Republic of Korea.
E-mail: dskim@sogang.ac.kr*

Taekyun Kim

*Department of Mathematics,
Kwangwoon University, Seoul 139-701,
Republic of Korea.
E-mail: tkkim@kw.ac.kr*

Hyck-In Kwon

*Department of Mathematics,
Kwangwoon University,
Seoul 139-701, Republic of Korea.
E-mail: sura@kw.ac.kr*

Jong-Jin Seo

*Department of Applied Mathematics,
Pukyong National University,
Busan, Republic of Korea.
E-mail: seo2011@pknu.ac.kr*

Abstract

In this paper, we consider q -analogues of Bernoulli, Euler and mixed-type polynomials. From those polynomials, we derive some new identities.

AMS subject classification:

Keywords: Higher-order q -Bernoulli polynomials, higher-order q -Euler polynomials, higher-order q -Daehee polynomials, higher-order q -Changhee polynomials.

1. Introduction

Let p be a fixed odd prime number. Throughout this paper Z_p , Q_p and C_p will denote the ring of p -adic integers, the field of p -adic rational numbers and the completion of algebraic closure of Q_p . Let v_p be the normalized exponential valuation of C_p with $|p|_p = p^{-v_p(p)} = 1/p$. Let us assume that q is an indeterminate in C_p with $|1 - q|_p < p^{-1/(p-1)}$. The q -number of x is defined as $[x]_q = (1 - q^x)/(1 - q)$. Note that $\lim_{q \rightarrow 1} [x]_q = x$. Let $UD(Z_p)$ be the space of uniformly differentiable functions on Z_p . For $f \in UD(Z_p)$, the bosonic p -adic q -integral on Z_p is defined by Kim to be

$$I_q(f) = \int_{Z_p} f(x) d\mu_q(x) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_q} \sum_{x=0}^{p^N-1} f(x) q^x. \quad (1.1)$$

Thus, by (1.1), we get

$$qI_q(f_1) - I_q(f) = (q - 1)f(0) + \frac{q - 1}{\log q} f'(0), \quad (1.2)$$

where $f_1(x) = f(x + 1)$, [15, 16].

In [16], Kim also defined the fermionic p -adic q -integral on Z_p as follows:

$$I_{-q}(f) = \lim_{N \rightarrow \infty} \frac{1 + q}{1 + q^{p^N}} \sum_{x=0}^{p^N-1} f(x) (-1)^x q^x. \quad (1.3)$$

Thus, by (1.3), we get

$$qI_{-q}(f_1) + I_{-q}(f) = [2]_q f(0),$$

where $f_1(x) = f(x + 1)$.

Let

$$I_0(f) = \lim_{q \rightarrow 1} I_q(f) = \int_{Z_p} f(x) d\mu_0(x) = \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) \frac{1}{p^N} \quad (1.4)$$

and

$$I_{-1}(f) = \lim_{q \rightarrow 1} I_{-q}(f) = \int_{Z_p} f(x) d\mu_{-1}(x) = \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) (-1)^x. \quad (1.5)$$

From (1.4) and (1.5), we have

$$I_0(f_1) - I_0(f) = f'(0), \quad I_{-1}(f_1) + I_{-1}(f) = 2f(0). \quad (1.6)$$

By (1.6), we get

$$\int_{Z_p} e^{(x+y)t} d\mu_0(y) = \frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} \quad (1.7)$$

and

$$\int_{Z_p} e^{(x+y)t} d\mu_{-1}(y) = \frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}, \quad (1.8)$$

where $B_n(x)$ and $E_n(x)$ are respectively Bernoulli and Euler polynomials, (see [1, 2, 3, 4, 5, 6, 12, 7, 8, 9, 10, 11, 13, 14, 15, 16, 17, 18, 19, 20, 21, 24, 25, 22, 23]). When $x = 0$, $B_n = B_n(0)$ are called Bernoulli numbers and $E_n = E_n(0)$ are said to be Euler numbers. As is known, the *q*-Daehee polynomials are given by

$$\left(\frac{q - 1 + \frac{q-1}{\log q} \log(1+t)}{qt + q - 1} \right) (1+t)^x = \sum_{n=0}^{\infty} D_{n,q}(x) \frac{t^n}{n!}. \quad (1.9)$$

When $x = 0$, $D_{n,q} = D_{n,q}(0)$ are called the *q*-Daehee numbers, (see [7, 25]). It is known that the *q*-Changhee polynomials are defined by

$$\left(\frac{[2]_q}{qt + [2]_q} \right) (1+t)^x = \sum_{n=0}^{\infty} Ch_{n,q}(x) \frac{t^n}{n!}, \quad (\text{see [17]}).$$

When $x = 0$, $Ch_{n,q} = Ch_{n,q}(0)$ are called the *q*-Changhee numbers.

In the viewpoint of (1.7) and (1.8), we consider *q*-analogues of Bernoulli, Euler and mixed-type polynomials. From those polynomials, we derive new and interesting identities.

2. *q*-analogue of Bernoulli, Euler and mixed-type polynomials

For $r \in \mathbb{N}$, the higher-order *q*-Bernoulli polynomials are defined by the generating function to be

$$\begin{aligned} \int_{Z_p} \cdots \int_{Z_p} e^{(x+y_1+\cdots+y_r)t} d\mu_q(y_1) \cdots d\mu_q(y_r) &= \left(\frac{q - 1 + \frac{q-1}{\log q} t}{qe^t - 1} \right)^r e^{xt} \\ &= \sum_{n=0}^{\infty} B_{n,q}^{(r)}(x) \frac{t^n}{n!}. \end{aligned} \quad (2.1)$$

When $x = 0$, $B_{n,q}^{(r)} = B_{n,q}^{(r)}(0)$ are called the higher-order *q*-Bernoulli numbers. For $r = 1$, $B_{n,q}(x) = B_{n,q}^{(1)}(x)$ are called the *q*-Bernoulli polynomials. When $x = 0$, $B_{n,q} = B_{n,q}^{(1)}(0)$ are said to be the *q*-Bernoulli numbers.

From (2.1), we can derive the following relation:

$$(qB_q + 1)^n - B_{n,q} = \begin{cases} q - 1, & \text{if } n = 0 \\ \frac{q - 1}{\log q}, & \text{if } n = 1 \\ 0, & \text{if } n > 1 \end{cases} \quad (2.2)$$

with the usual convention about replacing B_q^n by $B_{n,q}$.

By (2.1), we easily get

$$B_{n,q}^{(r)}(x) = \sum_{l=0}^n \binom{n}{l} B_{l,q}^{(r)} x^{n-l}. \quad (2.3)$$

Now, we consider the higher-order q -Euler polynomials as follows:

$$\left(\frac{[2]_q}{qe^t + 1} \right)^r e^{xt} = \sum_{n=0}^{\infty} E_{n,q}^{(r)}(x) \frac{t^n}{n!}. \quad (2.4)$$

When $x = 0$, $E_{n,q}^{(r)} = E_{n,q}^{(r)}(0)$ are called the higher-order q -Euler numbers. For $r = 1$, $E_{n,q}(x) = E_{n,q}^{(1)}(x)$ are called the q -Euler polynomials. When $x = 0$, $E_{n,q} = E_{n,q}(0)$ are said to be the q -Euler numbers.

From (2.4), we have

$$q(E_q + 1)^n + E_{n,q} = [2]_q \delta_{0,n}$$

with the usual convention about replacing E_q^n by $E_{n,q}$.

By (2.4), we easily get

$$E_{n,q}^{(r)}(x) = \sum_{l=0}^n \binom{n}{l} E_{l,q}^{(r)} x^{n-l}. \quad (2.5)$$

The higher-order q -Daehee polynomials are also defined by the generating function to be

$$\left(\frac{q - 1 + \frac{q-1}{\log q} \log(1+t)}{qt + q - 1} \right)^r (1+t)^x = \sum_{n=0}^{\infty} D_{n,q}^{(r)}(x) \frac{t^n}{n!}. \quad (2.6)$$

When $x = 0$, $D_{n,q}^{(r)} = D_{n,q}^{(r)}(0)$ are called the higher-order q -Daehee numbers.

Finally, we consider the higher-order q -Changhee polynomials as follows:

$$\left(\frac{[2]_q}{qt + [2]_q} \right)^r (1+t)^x = \sum_{n=0}^{\infty} Ch_{n,q}^{(r)}(x) \frac{t^n}{n!}. \quad (2.7)$$

When $x = 0$, $Ch_{n,q}^{(r)} = Ch_{n,q}^{(r)}(0)$ are said to be the higher-order q -Changhee numbers.

In this section, we assume that $t \in \mathbb{C}_p$ with $|t|_p < p^{-1/(p-1)}$. Then we have

$$\begin{aligned} & \int_{Z_p} \cdots \int_{Z_p} (1+t)^{x_1 + \cdots + x_r + x} d\mu_q(x_1) \cdots d\mu_q(x_r) \\ &= \left(\frac{q - 1 + \frac{q-1}{\log q} \log(1+t)}{qt + q - 1} \right)^r (1+t)^x \\ &= \sum_{n=0}^{\infty} D_{n,q}^{(r)}(x) \frac{t^n}{n!}. \end{aligned} \quad (2.8)$$

Now, we observe that

$$\begin{aligned}
 \left(\frac{q-1 + \frac{q-1}{\log q} \log(1+t)}{qt + q - 1} \right)^r (1+t)^x &= \left(\frac{q-1 + \frac{q-1}{\log q} \log(1+t)}{qe^{\log(1+t)} - 1} \right)^r e^{x \log(1+t)} \quad (2.9) \\
 &= \sum_{m=0}^{\infty} B_{m,q}^{(r)}(x) \frac{1}{m!} (\log(1+t))^m \\
 &= \sum_{m=0}^{\infty} B_{m,q}^{(r)}(x) \sum_{n=m}^{\infty} S_1(n, m) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left\{ \sum_{m=0}^n B_{m,q}^{(r)}(x) S_1(n, m) \right\} \frac{t^n}{n!},
 \end{aligned}$$

where $S_1(n, m)$ is the Stirling number of the first kind.

Therefore, by (2.8) and (2.9), we obtain the following theorem.

Theorem 2.1. For $n \geq 0$, we have

$$\begin{aligned}
 \int_{Z_p} \cdots \int_{Z_p} \binom{x_1 + \cdots + x_r + x}{n} d\mu_q(x_1) \cdots d\mu_q(x_r) &= \frac{D_{n,q}^{(r)}(x)}{n!} \\
 &= \frac{1}{n!} \sum_{m=0}^n B_{m,q}^{(r)}(x) S_1(n, m).
 \end{aligned}$$

From (1.3), we can also derive

$$\begin{aligned}
 \int_{Z_p} \cdots \int_{Z_p} (1+t)^{x_1 + \cdots + x_r + x} d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) &= \left(\frac{[2]_q}{qt + [2]_q} \right)^r (1+t)^x \\
 &= \sum_{n=0}^{\infty} Ch_{n,q}^{(r)}(x) \frac{t^n}{n!}.
 \end{aligned} \quad (2.10)$$

Note that

$$\begin{aligned}
 \left(\frac{[2]_q}{qt + [2]_q} \right)^r (1+t)^x &= \left(\frac{[2]_q}{qe^{\log(1+t)} + 1} \right)^r e^{x \log(1+t)} \quad (2.11) \\
 &= \sum_{n=0}^{\infty} E_{n,q}^{(r)}(x) \frac{(\log(1+t))^n}{n!} \\
 &= \sum_{m=0}^{\infty} \left\{ \sum_{n=0}^m E_{n,q}^{(r)}(x) S_1(m, n) \right\} \frac{t^m}{m!}.
 \end{aligned}$$

Thus, by (2.10) and (2.11), we obtain the following theorem.

Theorem 2.2. For $m \geq 0$, we have

$$Ch_{m,q}^{(r)}(x) = \sum_{n=0}^m E_{n,q}^{(r)}(x) S_1(m, n).$$

Let us define the following polynomials:

$$T_{n,q}^{(r,s)}(x) = \int_{Z_p} \cdots \int_{Z_p} E_{n,q}^{(s)}(x + y_1 + \cdots + y_r) d\mu_q(y_1) \cdots d\mu_q(y_r). \quad (2.12)$$

Then, the generating function of $T_{n,q}^{(r,s)}(x)$ is given by

$$\begin{aligned} \sum_{n=0}^{\infty} T_{n,q}^{(r,s)}(x) \frac{t^n}{n!} &= \int_{Z_p} \cdots \int_{Z_p} \sum_{n=0}^{\infty} E_{n,q}^{(s)}(x + y_1 + \cdots + y_r) \frac{t^n}{n!} d\mu_q(y_1) \cdots d\mu_q(y_r) \\ &= \left(\frac{[2]_q}{qe^t + 1} \right)^s \int_{Z_p} \cdots \int_{Z_p} e^{(x+y_1+\cdots+y_r)t} d\mu_q(y_1) \cdots d\mu_q(y_r) \\ &= \left(\frac{[2]_q}{qe^t + 1} \right)^s \left(\frac{q-1 + \frac{q-1}{\log q} t}{qe^t - 1} \right)^r e^{xt} \\ &= \sum_{n=0}^{\infty} \left\{ \sum_{l=0}^n \binom{n}{l} E_{l,q}^{(s)} B_{n-l,q}^{(r)}(x) \right\} \frac{t^n}{n!}. \end{aligned} \quad (2.13)$$

Therefore, by (2.12) and (2.13), we obtain the following theorem.

Theorem 2.3. For $n \geq 0$, we have

$$T_{n,q}^{(r,s)}(x) = \sum_{l=0}^n \binom{n}{l} E_{l,q}^{(s)} B_{n-l,q}^{(r)}(x).$$

By replacing t by $\log(1+t)$, we get

$$\begin{aligned} \sum_{n=0}^{\infty} T_{n,q}^{(r,s)}(x) \frac{(\log(1+t))^n}{n!} &= \left(\frac{[2]_q}{qt + [2]_q} \right)^s \left(\frac{q-1 + \frac{q-1}{\log q} \log(1+t)}{qt + q - 1} \right)^r (1+t)^x \\ &= \left(\sum_{l=0}^{\infty} Ch_{l,q}^{(s)} \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} D_{m,q}^{(r)}(x) \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left\{ \sum_{m=0}^n \binom{n}{m} D_{m,q}^{(r)}(x) Ch_{n-m,q}^{(s)} \right\} \frac{t^n}{n!}. \end{aligned} \quad (2.14)$$

We observe that

$$\begin{aligned} \sum_{m=0}^{\infty} T_{m,q}^{(r,s)}(x) \frac{(\log(1+t))^m}{m!} &= \sum_{m=0}^{\infty} T_{m,q}^{(r,s)}(x) \sum_{n=m}^{\infty} S_1(n, m) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left\{ \sum_{m=0}^n T_{m,q}^{(r,s)}(x) S_1(n, m) \right\} \frac{t^n}{n!}. \end{aligned} \quad (2.15)$$

Therefore, by (2.14) and (2.15), we obtain the following theorem.

Theorem 2.4. For $n \geq 0$, we have

$$\sum_{m=0}^n T_{m,q}^{(r,s)}(x) S_1(n, m) = \sum_{m=0}^n \binom{n}{m} D_{m,q}^{(r)}(x) Ch_{n-m,q}^{(s)}.$$

Corollary 2.5. For $n \geq 0$, we have

$$\sum_{m=0}^n \left\{ \sum_{l=0}^m \binom{m}{l} E_{l,q}^{(s)} B_{m-l,q}^{(r)}(x) \right\} S_1(n, m) = \sum_{m=0}^n \binom{n}{m} D_{m,q}^{(r)}(x) Ch_{n-m,q}^{(s)}.$$

From (1.5), we can derive

$$\begin{aligned} \sum_{n=0}^{\infty} D_{n,q}^{(r)}(x) \frac{(e^t - 1)^n}{n!} &= \left(\frac{q - 1 + \frac{q-1}{\log q} t}{qe^t - 1} \right)^r e^{xt} \\ &= \sum_{n=0}^{\infty} B_{n,q}^{(r)}(x) \frac{t^n}{n!}. \end{aligned} \quad (2.16)$$

Note that

$$\begin{aligned} \sum_{n=0}^{\infty} D_{n,q}^{(r)}(x) \frac{1}{n!} (e^t - 1)^n &= \sum_{n=0}^{\infty} D_{n,q}^{(r)}(x) \sum_{m=n}^{\infty} S_2(m, n) \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left\{ \sum_{n=0}^m D_{n,q}^{(r)}(x) S_2(m, n) \right\} \frac{t^m}{m!}. \end{aligned} \quad (2.17)$$

Thus, by (2.16) and (2.17), we obtain the following theorem.

Theorem 2.6. For $m \geq 0$, we have

$$B_{m,q}^{(r)}(x) = \sum_{n=0}^m D_{n,q}^{(r)}(x) S_2(m, n),$$

where $S_2(m, n)$ is the Stirling number of the second kind.

From (2.7), we have

$$E_{m,q}^{(r)}(x) = \sum_{n=0}^m Ch_{n,q}^{(r)}(x) S_2(m, n).$$

Let us consider the higher-order q -Daehee-Changhee mixed-type polynomials as follows:

$$DC_{n,q}^{(r,s)}(x) = \int_{Z_p} \cdots \int_{Z_p} D_{n,q}^{(r)}(x + y_1 + \cdots + y_s) d\mu_{-q}(y_1) \cdots d\mu_{-q}(y_s), \quad (2.18)$$

where $n \geq 0$.

From (2.18), we can derive the generating function of $DC_{n,q}^{(r,s)}(x)$ as follows:

$$\begin{aligned} \sum_{n=0}^{\infty} DC_{n,q}^{(r,s)}(x) \frac{t^n}{n!} &= \left(\frac{q-1 + \frac{q-1}{\log q} \log(1+t)}{qt + q - 1} \right)^r \left(\frac{[2]_q}{qt + [2]_q} \right)^s (1+t)^x \quad (2.19) \\ &= \sum_{n=0}^{\infty} \left\{ \sum_{m=0}^n \binom{n}{m} D_{m,q}^{(r)}(x) Ch_{n-m,q}^{(s)} \right\} \frac{t^n}{n!}. \end{aligned}$$

Therefore, by (2.19), we obtain the following theorem.

Theorem 2.7. For $n \geq 0$, we have

$$DC_{n,q}^{(r,s)}(x) = \sum_{m=0}^n \binom{n}{m} D_{m,q}^{(r)}(x) Ch_{n-m,q}^{(s)}.$$

By replacing t by $e^t - 1$ in (2.19), we get

$$\begin{aligned} \sum_{n=0}^{\infty} \left\{ \sum_{m=0}^n \binom{n}{m} D_{m,q}^{(r)}(x) Ch_{n-m,q}^{(s)} \right\} \frac{(e^t - 1)^n}{n!} &= \left(\frac{q-1 + \frac{q-1}{\log q} t}{qe^t - 1} \right)^r \left(\frac{[2]_q}{qe^t + 1} \right)^s e^{xt} \quad (2.20) \\ &= \sum_{n=0}^{\infty} \sum_{l=0}^n \binom{n}{l} B_{l,q}^{(r)} E_{n-l,q}^{(s)}(x) \frac{t^n}{n!}. \end{aligned}$$

We observe that

$$\begin{aligned} \sum_{n=0}^{\infty} \left\{ \sum_{m=0}^n \binom{n}{m} D_{m,q}^{(r)}(x) Ch_{n-m,q}^{(s)} \right\} \frac{(e^t - 1)^n}{n!} \quad (2.21) \\ &= \sum_{n=0}^{\infty} \left\{ \sum_{m=0}^n \binom{n}{m} D_{m,q}^{(r)}(x) Ch_{n-m,q}^{(s)} \right\} \sum_{l=n}^{\infty} S_2(l, n) \frac{t^l}{l!} \\ &= \sum_{l=0}^{\infty} \left\{ \sum_{n=0}^l \sum_{m=0}^n \binom{n}{m} D_{m,q}^{(r)}(x) Ch_{n-m,q}^{(s)} S_2(l, n) \right\} \frac{t^l}{l!}. \end{aligned}$$

Therefore, by (2.20) and (2.21), we obtain the following theorem.

Theorem 2.8. For $l \geq 0$, we have

$$\sum_{m=0}^l \binom{l}{m} B_{m,q}^{(r)} E_{l-m,q}^{(s)}(x) = \sum_{n=0}^l \sum_{m=0}^n \binom{n}{m} D_{m,q}^{(r)}(x) Ch_{n-m,q}^{(s)} S_2(l, n).$$

References

- [1] S. Araci and M. Acikgoz, *A note on the Frobenius-Euler numbers and polynomials associated with Bernstein polynomials*, Adv. Stud. Contemp. Math., 2012, 22, no. 3, 399–406.
- [2] A. Bayad, *Modular properties of elliptic Bernoulli and Euler functions*, Adv. Stud. Contemp. Math., 2010, 20, no. 3, 389–401.
- [3] A. Bayad and T. Kim, *Identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials*, Adv. Stud. Contemp. Math., 2010, 20, no. 2, 247–253.
- [4] J. Choi, D. S. Kim, T. Kim, and Y. H. Kim, *Some arithmetic identities on Bernoulli and Euler numbers arising from the p -adic integrals on Z_p* , Adv. Stud. Contemp. Math., 2012, 22, no. 2, 239–247.
- [5] D. Ding and J. Yang, *Some identities related to the Apostol-Euler and Apostol-Bernoulli polynomials*, Adv. Stud. Contemp. Math., 2010, 20, no. 1, 7–21.
- [6] S. Gaboury, R. Tremblay and B.-J. Fugere, *Some explicit formulas for certain new classes of Bernoulli, Euler and Genocchi polynomials*, Proc. Jangjeon Math. Soc., 2014, 17, no. 1, 115–123.
- [7] D. S. Kim, T. Kim and H. I. Kwon, *Identities of some special mixed-type polynomials* (communicated), 2014.
- [8] D. S. Kim and T. Kim, *Some identities of Bernoulli and Euler polynomials arising from umbral calculus*, Adv. Stud. Contemp. Math., 2013, 23, no. 1, 159–171.
- [9] D. S. Kim, T. Kim, Y. H. Kim, and S. H. Lee, *Some arithmetic properties of Bernoulli and Euler numbers*, Adv. Stud. Contemp. Math., 2012, 22, no. 4, 467–480.
- [10] D. S. Kim, T. Kim, S.-H. Lee, and J.-J. Seo, *Higher-order Daehee numbers and polynomials*, Int. J. Math. Anal. (Ruse), 2014, 8, no. 5-8, 273–283.
- [11] D. S. Kim and T. Kim, *Daehee numbers and polynomials*, Appl. Math. Sci. (Ruse), 2013, 7, no. 117-120, 5969–5976.
- [12] G. Kim, B. Kim and J. Choi, *The DC algorithm for computing sums of powers of consecutive integers and Bernoulli numbers*, Adv. Stud. Contemp. Math., 2008, 17, no. 2, 137–145.
- [13] T. Kim, S.-H. Lee, T. Mansour, and J.-J. Seo, *A Note on q -Daehee Polynomials and Numbers*, Adv. Stud. Contemp. Math., 2014, 24, no. 2, 155-160.

- [14] T. Kim, J. Choi and Y.-H. Kim, *Some identities on the q -Bernstein polynomials, q -Stirling numbers and q -Bernoulli numbers*, Adv. Stud. Contemp. Math., 2010, 20, no. 3, 335–341.
- [15] T. Kim, *q -Volkenborn integration*, Russ. J. Math. Phys., 2002, 9, no. 3, 288–299.
- [16] T. Kim, *A study on the q -Euler numbers and the fermionic q -integral of the product of several type q -Bernstein polynomials on Z_p* , Adv. Stud. Contemp. Math., 2013, 23, no. 1, 5–11.
- [17] T. Kim, T. Mansour, S.-H. Rim, and J.-J. Seo, *A note on q -Changhee polynomials and numbers*, Adv. Studies Theor. Phys., 2014, 8, no. 1, 35–41.
- [18] Y. H. Kim and K.-W. Hwang, *Symmetry of power sum and twisted Bernoulli polynomials*, Adv. Stud. Contemp. Math., 2009, 18, no. 2, 127–133.
- [19] V. Kurt, *Some relation between the Bernstein polynomials and second kind Bernoulli polynomials*, Adv. Stud. Contemp. Math., 2013, 23, no. 1, 43–48.
- [20] H. Ozden, I. N. Cangul and Y. Simsek, *Remarks on q -Bernoulli numbers associated with Daehee numbers*, Adv. Stud. Contemp. Math., 2009, 18, no. 1, 41–48.
- [21] J.-W. Park, *New approach to q -Bernoulli polynomials with weight or weak weight*, Adv. Stud. Contemp. Math., 2014, 24, no. 1, 39–44.
- [22] E. Sen, *Theorems on Apostol-Euler polynomials of higher order arising from Euler basis*, Adv. Stud. Contemp. Math., 2013, 23, no. 2, 337–345.
- [23] J. J. Seo, S. H. Rim, T. Kim, and S. H. Lee, *Sums products of generalized Daehee numbers*, Proc. Jangjeon Math. Soc., 2014, 17, no. 1, 1–9.
- [24] Y. Simsek, *Generating functions of the twisted Bernoulli numbers and polynomials associated with their interpolation functions*, Adv. Stud. Contemp. Math., 2008, 16, no. 2, 251–278.
- [25] Y. Simsek, S.-H. Rim, L.-C. Jang, D.-J. Kang, and J.-J. Seo, *A note on q -Daehee sums*, J. Anal. Comput., 2005, 1, no. 2, 151–160.